RKRFRIEBEBRIHM

Aetive %6@6/6%%

Upper Intermediate

Q 435 % mit

 http://www.cqup.com.cn



X2 HIERH M

-&%ﬁ@eg%mdﬁy

Upper Interm ediate

£ & KDL B ¥
& & (RUERZzEEIRFHS)
+

Bor B & FAE
sk &= AIRIZ HElE 2 I

43 k% it



HERE

CEBNBI ) CPAARN T S A ) S ARG BRS04 R 27 9 i SRR B R 40 75 ) i A
VAR ey o A Sl R B AR R 2% &, B LA K 3 DU N G bR S5 R g2 /4 B 2 0 10 111 R ) | 5
2L K TR 4 e I B G (7 e 52 > AL B 1) 335 Jr 5 08 80 o A B DR R . DI, 5 0 21 3 ot
AR SR AR 0 S RT . %O 5 D R P RS AR 15 A T 8 AN ST AL 5 K A ] i1 e
At AR ICLAR R Al A 2k A% il X 254 S B A DA , 199 508 32 8 1) EAEAL, O k2% 191 ke ok 45 A Tl
TEBI L B A R . AR 2 BB i DU N R SR RS 1 K k09 92 R 5 20 B0, LR 2 2 % 4 4
LB SR Rz . A i Ay el R O B L Al ] P27 A 0 SR AR b 7825 20 W6, A8 0] 2 o H AT A
AL 7R 18 57 I B 28 e 7 i o S0 B BB A 14 11 AR

E B EMS B (CIP) 8

F A R A AT BV . — TR
0K R b, 2012.9

K2F il R

ISBN 978-7-5624-6940-7

I.WFE- 0. O%k--QFh- M. ORE—F L
SR — M V. (DH319. 4

pUA
Ea SR

[ RAS AR CIP BiA% 5 (2012) 55 190851 &

F 37
(FEEAE)
Active Reading ( Upper Intermediate )

* ® KO® & =
mfERE:» H RASttE E
BN - XU FEEEDS X &

*
SRR HRA BRART
A« XE8% 2
13t - BERHYMTINX A 2 I0ehEE 21 S
4w -401331

E815 . (023) 88617183  88617185( 01/[\=2)

EE.(023) 8861?186 88617166

POHE - hitp . //www. equp. com. en

BE7E . ixk@ cqup. com. en (D)

L EHEBIESH
F5INBHREDRI EDRI
FA787 x1092 1716 E[J5K.8 S#7.200 F
2012 FE9BHE 1R 2012 529 B2 | RER!
ISBN 978-7-5624-6940-7  E{/T:24. 00 7T,

ABUEEIR KT TSRS0I, A1t A HBIR
WA ER B, B E BN A A+
FERXHMYREERS, FHELR



][l

H

BB (P AR R R AR ) S e 2T S A 1) R 27 D DR 280 0K ) 9 5 T
J, AR A T LR B BEAY B o SR 2 TR R T R A | 3 TR A e B R
RO, BAER B2 E RSB R L RE 1o 1R X ROV B i S Z 000, FRATIRE 226 72
B, b b SR T AR 2o il SCRE (R 2R ) XE AR T HERCR AN ., Y ) K [ B T
i, 2 i Bk T TR BRI R L T 2 A B B WO B 1 R A A — 2
BERA 2 I, P 1% 2R 90 BObE B AT T R | AS P 5 5 0081 2 7 1) A ] 52 , S 7 T A D) 332 5 =
Be i I (15 % (27 BT Critical Reading (RHE /] .

TEUL BB EE B T AR EM 0 FF SR BAE LU R LA 7 1. R skill-oriented B4 S
SR, 5 BT LA 45 T B AR B (8 T A PRI R (2 A AR 7 0 s AT 2 ] 138
B, T G bR FT SE0C8  2. SRR 7 il U oS 9 AL N ey A ) Bl 1 B 0 il A i
38 BT S5 T A OB R AR AR B B 0 A 2 S B TR 3. BT A 8 i T
“JELTT IR BB SCE 1R, AR EERE AR S S O I ORI A R 4 B SO
R, AR SR A B AR, 4. IR SCHYME B B I RE 24 7 2 1 4 [ DR 0 D0 N % K Y
FOR, T B A H C3EE K-

AR FR IV AR A, TR R LR 2 o) S R A R B BT, T
D A BT AR XS T (XA SCREAN T ST o A B R B B BT, K

Wi 22 [ 06 3R B SR A ZEL AR R 5 A DA e SR e P 5 Pl 152 2
£15,

A B TCH AT B TSR N 15 B DR A I 5 55 o S TR B R 33 5
B A3 SR SCRE L SRR SR A 5 5 DU A3 A2 R s A TR R IR R R RE VI 2

AEM M HRE R THFZRCAL RO 500 T, KRS MR A ST FohiE
SAE RGBT R O 1 R RSO  CIR T 45 i A T B 55 B, AT AL 2 A A ]
FR I

M T KA R MERAFAEA R Z A, B A R Ty, Bl (A Bt 1) KU
Mg E AR AR IE

wmEAE
2012%7A



UMt o

Understanding the Text Structure

Part 1 Skimming & Scair

Go over the following passage quickly and then complete Section A and Section B within 15

minutes.

Will This Marriage Last?

Wedding season is here again. Your attendance has been requested. Dust off your
finest, buy a well-wrapped gift, and slap on an optimistic smile.

One of the great bystander sports at weddings is looking for clues that forecast whether
this couple will last, or whether they’ll just become another divorce statistic. You’ll keep
these thoughts to yourself, but the mental guessing is nearly impossible to turn off. You’ve
got your hunches (#ij#). You would have more confidence in the wedding if this couple
had moved in together for six months to test-drive this relationship. You might not worry that
she was raised in a broken home, but you do worry that he was married before. And the
groom hasn’t darkened a church door in years, but the bride insisted they get married in a
chapel( .74 ) — you’re not sure what to make of that.

The truth is that some of these factors actually matter, and some do not. Every wedding
is haunted (JA4) by that axiom (i#W]) , “Half of all marriages end in divorce. ™ But it’s not
a random coin flip. At the time of a couple’s wedding, there are factors already present that
can raise the odds of divorce to as high as 70% , or lower it to nearly 20%.

The first thing to keep in mind is that the divorce rate has stabilized. An average couple
now has a 57% chance of seeing their 15th wedding anniversary. If they make it that far,
most will reach “till death do us part”.

Let’s group the risk factors into three. The first grouping is the couple’s relationship. The
second grouping is financial issues. The third grouping is their family history.

Regarding the couple, their age matters. If they are just out of high school, that’s not so
good. (No surprise. ) The odds improve dramatically if they’re at least 25 — but don’t
assume the older the better. Marrying at age 35 is not any better than age 25.

o1
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Most couples today cohabit before they marry. The crucial issue here is whether they
moved in together with the full intention to get married, or whether they moved in together
just because it was the logical thing to do, since he was always at her place anyway. You
might think that living together is a sort of “trial period™” that helps prevent bad marriages,
since they can break up before taking an oath (%5 7) to each other. But the odds suggest the
opposite ; they divorce more. Why doesn’t this filter work? Very likely, whatever it was that
made them not want to get married in the first place ended up becoming a problem long-
term.

If the couple has ever invited you over for dinner, you’ve got a good clue there. Does
the groom substantially help with the housework, cleaning, and cooking? If he does, this
may be one of the most important predictors of all. We don’t usually think about this when
they are standing at the altar, but the bride will definitely be thinking about it in two years if
her husband has left all the chores to her. A man who does housework is also going to be
involved in childrearing — another major benefit to the couple.

If this is a second marriage, for either bride or groom, their odds of divorce are
somewhat higher. Remarried families have more complex issues to confront: exes to deal
with, and stepchildren to raise. But this risk is often overstated; a middle-class second
marriage has only 3% more risk than a first marriage.

Being religious doesn’t make a couple happier with their marriage, but it does mean
they might try a little harder to stick it out. But what is really important here is not what
religion they are, but how devoted they are to practicing their faith. You’re right to worry if
the bride insisted that they get married in the chapel, when the groom really wanted a
wedding at the beach.

Let’s talk money. Money helps, a lot — but a relatively small amount of money goes a
long way. If this couple will earn a modest $50,000 as a family, their odds of seeing their
15th anniversary jump to 68%. By and large, well-off couples divorce over personality
conflicts while poorer couples divorce over alcoholism, physical abuse, and money
problems. (Infidelity {(4hifi) is a frequent deal-breaker, rich or poor. )

If you’ve heard that the bride and groom have been hunting for a house to buy, that’s a
good sign. Homeowners aren’t happier in marriage than renters, but there’s a permanence
to their life — a connection to a community. The house is also a roadblock to divorce, being
hard to divide.

Now for the really fun stuff — their families. Pay close attention to the parents of the
bride and groom. Are they divorced? If so, it’s been known for some time that their children
are at higher risk of divorce when they marry. It’s quite significant — it raises their odds of
divorce by 14%. But you need to know a little more before applying this handicap. Before
the parents divorced, was their conflict loud and visible to the children? Or was their conflict
kept hushed behind closed doors? Surprisingly, it’s the children of the latter who are getting
divorced. Growing up in a home where they thought everything was fine — until their
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parents suddenly announced their divorce — leads those children not to trust their
relationships.

Watch.the bride and her father as they walk down the aisle. Are they tense with each
other? If so, that’s bad. Women with poor relationships to their fathers are more likely to get
divorced from their husband. That’s not the case for the groom — the quality of his
relationship to his father does not impact his odds.

By now, all these risk factors probably seem overwhelming. Even worse, it seems that
there’s very little an engaged couple can do to help themselves. They can’t reverse their
parent’s divorce, and they can’t elevate their financial status overnight. They might be able
to attend church, but if God hasn’t spoken to them, faking it doesn’t help.

But it’s not all an accomplished fact. There are many things a couple can do to improve
their odds. Wait until they're 25, for instance. And a young man can learn to wash a toilet
and roast a chicken. He can also learn to change a diaper — it’s not that hard.

If the bride has a poor relationship with her father, her fate’s not sealed either. Among
those women, those who’ve created a strong bond with the groom’s family counteract their
risk.

The couple’s expectations are a huge factor in the longevity of their marriage. Couples
who have attended premarital classes or counseling cut their odds of divorce by almost a
third. We don’t know if the classes actually change the couples, or if those couples are
already realistic and well-informed to the dangers (which is why they were smart enough to
take the class). But premarital counseling might be the best wedding gift any newlyweds can
receive.

Bottom line, the weddings you attend this summer are likely to have much better odds of
lasting than a coin flip. That’s something to enjoy, when the champagne has run dry and the
band covers Kool & The Gang and one of the bridesmaids has run off in tears.

=> Section A Information Confirmation

Go over the following questions and choose the best answer from the choices marked A, B,

C and D.
1. What is the main idea of this passage?

A. Family history does impact on the couple’s relationship.

B. How long a new marriage will last can be forecasted.

C. Certain factors increase or reduce the odds of divorce.

D. Financial problems often spoil the couple’s marriage.
2. What can we know about the divorce rate?

A. It soars surprisingly. B. It seems to be steady.

C. It declines gradually. D. It is always about 50% .
3. Couples living together before getting married actually

A. raise their odds of divorce
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B. can prevent bad marriage
C. improve their compatibility
D. reduce risk factors in marriage
4. The marriage may last longer if the groom
A. treats his bride with good manners
B. always shares housework with the bride
C. has the same religious belief as his bride
D. learns a lesson from his first marriage
5. Which of the following factors helps couples hold their marriage longer?
A. Identical personality.
B. Real financial freedom.
C. Poor financial situation.
D. A modest family income.
6. The effects of owning a house on the longevity of the couple’s marriage are
A. neutral B. negative C. unclear D. positive
7. What is the surprising finding about the children whose divorced parents used to keep their
conflict behind closed door?
A. They distrust all relationship.
B. They prefer to be singled.
C. They get divorced more.
D. They are afraid of divorce.

= Section B Information Completion

Complete the sentences with the information given in the passage.

8. Remarried families are faced with more issues, but their odds of divorce are not
as they are assumed to be.

9. The odds of divorce can be raised if the bride gets a with her father and fails to
create with her husband’s family.

10. The can certainly help the couples to develop realistic
attitudes towards their marriage and thus their odds of divorce.

-

Most people think a person’s taste in food is so unique and random, that it couldn’t
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possibly reveal anything about their character.

But other subtle things that people do can help us make up our mind about a person’s
character, Should we really be so quick to dismiss what a person eats?

Dr. Alan Hirsch is a US neurologist ( #1£:FLEE i) who specialises in the treatment of
people who lose their sense of smell or taste. Through the Smell and Taste Treatment and
Research Foundation, which he heads up, Hirsch conducts research into the link between
food choices and behaviour.

In order to investigate the possible link between people’s choices of snack food and
personality, Hirsch quizzed a sample of 19,400 people. He made all participants undergo
two well-known personality tests.

These tests define each of the volunteers according to widely accepted personality
categories. Hirsch could then check his own results against these in order to find correlations
between their choice of snack food and personality type.

Hirsch also tested the volunteers on questionnaires designed to assess depression,
because depressive illnesses are known to coincide with losses of sensation and preferences
for certain foods.

The volunteers were then tested on their preference for snack foods and the pleasure
value they assigned to each food. Hirsch also quizzed married partners on their choices to
find out how people with different food choices differed in their compatibility for each other.
You can take Dr. Hirsch’s test here.

The study revealed surprising links between perfectionism and the urges to munch ( i Jj
MHME ) tortilla ( £ K 3 PF) chips and even a connection between introversion and the
consumption of cream crackers.

Dr. Hirsch used the same technique of testing for associations between different
personality types and the flavours of ice cream people prefer.

“We may be the adventurous type and try new flavors, or we may resist change and go
back to those we considered tried and true,” says Hirsch.

Ultimately, while some will feel this test provides a good assessment of their personality,
others will disagree with the assessment. However, it’s clear that subtle features such as a
person’s taste in food may not be as harmless as we may at first think.

Find out how you taste, or see if we can predict which decade you were born in from

the smells that remind you of your childhood.

Choose the best answer.
1.1t is generally assumed that
A. what we usually eat does not necessarily expose what we actually are
B. random choices of food may mirror the unknown part of our character
C. certain food preferences may not be closely linked with our mental health
D. tastes in food probably have a significant impact on shaping our personality
2. Which one of the following statements best summarizes the passage?

. 5.
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A. Psychology tests and their reliability.
B. People’s flavour and their personality.
C. Food preferences and pleasure value.
D. Choices of food and mental health.
3. What did Dr. Hirsch find in his study?
A. Certain types of personality are connected to certain food preferences.
B. Food tastes certainly determine the relationship of married partners.
C. Conservative people scarcely attempt to try new flavours of ice cream.
D. Personality types can be well explained by people’s choices of food.
4. What can be inferred about people suffering depression? *#
A. They hardly gain a strong sense of satisfaction from eating.
B. They obviously have lost their interest in ordinary foods.
C. They are generally assumed to be in favour of some foods.
D. They always prefer snack food and often refuse a large serving.
5. What can be concluded from the passage?
A. People tend to be too quick to take things for granted before finding the truth.
B. Dr. Hirsch’s research failed to assess the personality type of his subjects.
C. Adventurous people are supposed to consume different flavours of ice cream.
D. Subtle things like taste in food may affect our character to a certain degree.

.........................

Saving for your children’s education, purchasing a second home, deciding when and
how to retire — these are all topics that people talk about with their friends and their financial
advisers. But deciding what happens to whatever is left of your money when you die is often
passed over. It shouldn’t be, though, because it is crucial to a financial plan. Most
Americans will die without the estate tax affecting them. In 2009, a married couple can leave
$7 million to their children tax free.

Those who are affected by the tax are some of the best planners. The problem here,
though, is that they do not always make sure that what they wanted to do is laid out properly
in their estate documents. Anyone can learn from their slip-ups.

The most common mistake is one of oversight. Anyone who has ever worked at a
company that offers benefits has filled out a “beneficiary designation” form. In the stack of
papers asking questions, ranging from which health insurance plan is right to how much
should go into the company retirement plan each pay period, the beneficiary designation
form is remarkably simple: If | die, who gets the corporate benefits package?

Fast forward 25 years, and the lowly assistant who signed that piece of paper is now a
top executive. His benefits package has grown substantially over the years. Does he still want
to leave it to his mother and brother — or former wife? These forms trump wills when it

.6 -
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comes to distributing assets not held jointly. Check them often.

The same goes for people who have set up trusts. Regardless of what the trusts were for
or when they were written, they should be reviewed occasionally — preferably by someone
not involved with creating them. This isn’t to detect shenanigans (ifiit), but to check for
simple errors that could alter how an estate will be distributed.

As a side note, trusts are no longer the province of the very rich. They have morphed
over the years into useful and straightforward vehicles to protect assets in life from creditors
and lawsuits and to pass them to heirs on your own terms.

The lesson to be learned from all of this is simple; One day you will die, so while
you're alive, plan for it. If you don’t have a proper estate plan, the emotional pain of your

passing could be compounded by financial chaos.

Choose the best answer.
1. The estate tax is assumed to affect some of the best planners if they
A. fail to ensure whether their estate documents are well handled
B. are too ignorant to find reliable professionals to distribute their assets
C. make mistakes when filling out the “beneficiary designation” forms
D. slip up over the choice of who gets all their company benefits package
2. Why does the author suggest checking the “beneficiary designation” forms often?
A. Because it has been quite a long time since the forms were signed.
B. Because the benefits package has become a surprisingly huge sum.
C. Because these forms will determine how the assets are distributed.
D. Because any change in life may induce the revision of these forms.
3. The trusts owners are encouraged to
A. take a review on what the trusts were for and when they were written frequently
B. assign someone to supervise their trusts who did not participate in them initially
C. track down those suspects who have intentionally deceived them in the documents
D. correct man-made errors that may result in financial crisis among family members
4. What could be inferred about trusts?
A. They successfully protect you from lawsuits.
B. Their roles have been evolving all the time.
C. They are not exclusive to the wealthy today.
D. Your children could inherit such trusts tax free.
5. What can be concluded from this passage?
A. Our pain is relieved if not coming with financial loss.
B. Early financial forms need to be checked regularly.
C. Professional financial planners help you reduce taxes.
D. Good estate plans can free you from financial chaos.
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Part3 Reading in tlrlejc

Read the passage with ten missing words or phrases. Learn to guess the meanings of them
Jfrom the context and then select one word for each blank from a list of choices given in a word
bank following the passage. Each word or phrase should be selected only once.

Fathers can sometimes overlook the importance of being a regular participator in their
child’s life. Being there for a child is more than physical 1 | but helping to meet
children’s social, emotional, and psychological needs.

Fathers talk about the importance of helping their child solve many of the 2
problems of growing up. These could be the challenges of 3  adulthood such as deciding:
what to do for a living, whether to go to college, whether to buy a car; or, they could be
everyday tasks such as homework, fixing a bike, or hanging a swing from a tree.

In the problem-solver role, dads are modeling effective problem-solving skills for their
child. They have an opportunity to show their child how to make and act on decisions, as
well as experience the 4  of their actions and decisions. This process 5 a child’s
responsibility, independence, and self-reliance. If children are raised without a role model
for effective problem-solving, they often adopt poor strategies that lead them to become
ineffectual (A1) and 6  in problematic (4 [n]J#8f1)) situations. Children and adults

with deficient (it = #)) problem-solving skills often become needy and 7  on others to
“make things right” in their life. On the positive side, fathers who model healthy problem-
solving in relationships have children who are less 8 and who are more popular with
their peers and teachers.

While fathers often play a critical role in their child’s life by setting an example of
problem-solving, fathers sometimes get involved in solving problems when it’s nearly too
late. In some family situations, a father only gets involved when a child’s emotional and
behavioral problems have become so serious that they are less responsive to treatment. 9
dad’s help for only the “big” problems is a big mistake. Fathers need to be involved in all
~ 10 of their child’s problem-solving strategies from serving as an example to serving as a

guide who offers possible solutions to their children.

A. consequences F. ambitious K. phases

B. helpless G. parts L. Limiting

C. dependent H. aggressive M. emerging

D. Reserving |. fosters N. enhances

E. presence ). critical O. reliable -
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Part 4 Translation b il

Complete the sentences by translating into English the Chinese given in brackets.
1. But for the wide use of internet,
(FRATTAS ] G s DRAEE 7 5 3t R A% R 5 2 9T -
2. When it comes to the indoor activities for rainy days,
(AT Heis e/ MbG R A L R B N R i 1)
3. My friend told me that he had quitted his job,
(A A i — 2L i B RE S Tt A )
4. Men are more likely to base their judgments on reasoning,
(T L AT A 58 e fE ke ) -
5. Loyalty suggests under no circumstances

(FEAEA ZH B A CRIBIA) .-

Part 5 Reading Sk’i

Texts may be divided into sections, each marked by section headings. Texts are usually
further divided into paragraphs. When we come to a text, we have expectations about its
structure. For example, we may expect the first paragraph to give an introduction and the last
to provide a conclusion. A new paragraph may indicate a minor shift of topic and a new
section a major shift.

However, these can only be expectations. A new paragraph does not always mean a
new topic. A single topic may be developed over several paragraphs. A paragraph may
include more than one topic. Identifying text structure helps us to understand how the topics
in a text relate to each other. It also helps us to give a structure to our notes and summaries.

Given a specific function and certain information that has to be conveyed, there are
many different ways in which this information may be presented and organized. The
organization of a text is not always determined by its contents and by the nature of the
information to be conveyed. The thematic pattern used is often a choice on the part of the
writer and this choice, in its turn, alters the message. The thematic patterns mainly are:
chronological sequence, descriptions, analogy and contrast, classification and argumentative
and logical organization.

In order to read efficiently, one must be able to recognize the topic sentences of the
text, since they carry the main information. One must also be able to recognize the
indicators which announce the function of the sentences that are expansions of the topic
sentence(e. g. indicators announcing an example, a restriction, a consequence, etc. ).

.9.
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..........................

Read the passage below and answer the questions.

I don’t know why UFOs are never sighted over large cities by hordes of people. But it is
consistent with the idea that there are no space vehicles from elsewhere in our skies. |
suppose it is also consistent with the idea that space vehicles from elsewhere avoid large
cities. However, the primary argument against recent extraterrestrial visitation is the absence
of evidence.

Take leprechauns ( ¥k #% ) as an example. Suppose there are frequent reports of
leprechauns. Because | myself am emotionally predisposed in favor of leprechauns, | would
want to check the evidence especially carefully. Suppose | find that 500 picnickers
independently saw a green blur in the forest. Terrific. But so what? This is evidence only for
a green blur. Maybe it was a fast hummingbird. Such cases are reliable but not particularly
interesting.

Now suppose that someone reports: “| was walking through the forest and came upon a
convention of 7,000 leprechauns. We talked for a while and | was taken down into their hole
in the ground and shown pots of gold and feathered green hats. | will reply: “Fabulous! Who
else went along?” And he will say, “Nobody” , or “My fishing partner”. This is a case that is
interesting but unreliable. In a case of such importance, the uncorroborated testimony of one
or two people is almost worthless. What | want is for the 500 picnickers to come upon the
7,000 leprechauns... or vice versa.

The situation is the same with UFOs. The reliable cases are uninteresting and the
interesting cases are unreliable. Unfortunately, there are no cases that are both reliable and

interesting.

< Questions

1. If you had to pick out one sentence in the whole passage to sum up the main idea, which
one would you choose?

2. Find the topic sentence of each paragraph.

3. Which words of the first paragraph do the second and third paragraphs develop?

4. Find out at least one instance of;
— an illustration.
— a restatement of an idea just mentioned.

5. What words are used to introduce the two illustrations given in the text? What words are
used to introduce the conclusions drawn from these illustrations?

6. The following points are all mentioned in the text. Which sentences represent the main
idea in the passage and which are non-essential, supporting details?
— Space vehicles from elsewhere avoid large cities.

.10 -
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— The primary argument against recent extraterrestrial visitation is the absence of
evidence.

— The.author is emotionally predisposed in favor of leprechauns.

— The fact that 500 picnickers saw a green light in the forest is terrific.

— The green blur might have been a hummingbird.

— Cases such as that of the picnickers are not interesting.

— Someone said that the leprechauns took him down their hole.

— The man said his fishing partner was with him.

— The reliable cases are uninteresting and the interesting cases are unreliable.

< Explanations

l.

5.

The passage is well organized: In the first paragraph, the author presents his argument that
extraterrestrial visitation lacks evidence. Then in the second and third paragraphs, he used
two illustrations to argue for the main idea: one case is that 500 picnickers saw a green blur
in the forest; the other is that someone came upon a convention of 7,000 leprechauns. The
author concludes in the last paragraph that “ Unfortunately, there are no cases that are both
reliable and interesting” , which could best sum up the main idea of the whole passage.

.Para I: In this paragraph, the author intends to present the main theme of the passage, i.

e. extraterrestrial visitation lacks evidence. So the sentence “ However, the
primary argument against recent extraterrestrial visitation is the absence of
evidence. " could serve as the topic sentence of this paragraph.

Para 2: In this paragraph, the author illustrates the main idea by one instance that 500
picnickers saw a green blur in the forest. But the author points out *Such cases are
reliable but not particularly interesting” , which could be regarded as the topic
sentence of this paragraph.

Para 3: In this paragraph, the author uses another instance to illustrate the main idea:
someone came upon a convention of 7,000 leprechauns. However, the author
doesn’t think it reliable. So the sentence “This is a case that is interesting but
unreliable. ” could serve as the topic sentence of this paragraph.

Para 4. In the last paragraph, the author refers back to the case of UFOs, which, he
thinks, is the same with that of leprechauns. So, the sentence “The situation is the
same with UFOs. " is the topic sentence of this paragraph.

. The words “extraterrestrial visitation” and “absence of evidence” in the first paragraph are

developed in the second and third paragraphs.

.— One illustration is that “500 picnickers independently saw a green blur in the forest”.

— The sentence " Unfortunately, there are no cases that are both reliable and interesting. ”
in the last paragraph is a restatement of the preceding sentence “ The reliable cases are
uninteresting and the interesting cases are unreliable”.

The words “take”, “suppose” are used to introduce the two illustrations. For example, in
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Paragraph 2, one can read such sentences as * Take leprechauns as an example”, and
“Suppose there are frequent reports of leprechauns™. In Paragraph 3, the author uses the

sentence like “Now suppose that someone reports... ” to introduce the second illustration.
Those words “Such cases... ", “This is a case... ", “In a case of... 7, “... there are no
cases that... 7 are employed by the author to introduce the conclusions drawn from these
illustrations.

6. Sentences representing the main idea:
— The primary argument against recent extraterrestrial visitation is the absence of
evidence.
— The reliable cases are uninteresting and the interesting cases are unreliable.
Sentences which are supporting details
— Space vehicles from elsewhere avoid large cities.
— The author is emotionally predisposed in favor of leprechauns.
— The fact that 500 picnickers saw a green light in the forest is terrific.
— The green blur might have been a hummingbird.
— Cases such as that of the picnickers are not interesting.
— Someone said that the leprechauns took him down their hole.
— The man said his fishing partner was with him.

.........................

Read the passage below. You will find the topic sentence of each paragraph of the text.

Even the cheapest and least complicated digitals are minor miracles of modern
technology. They replace the traditional hands, springs and cogs with flickering digits and
electronic circuits. Some just display hours, minutes and seconds, but many function like
baby computers. At the push of a button you can check the time in New York or New Debhli,
see exactly how long Mario Andretti takes to lap a race track, set a small but shrill alarm, or
even programme the watch, months in advance, to flash out a reminder about birthdays and
other special dates. Some digitals have calendars that “know” all about leap years and will
remain accurate well into the next century.

Quartz, one of the world’s most common minerals, lies at the heart of every digital
watch. Almost a century ago, scientists discovered that quartz crystals vibrate at an
absolutely constant frequency when an electric current is passed through them. But quartz
digital watches did not become practical until miracles of miniaturization were developed to
save weight and room in spacecraft. The typical watch crytal, powered by a battery the size
of a fingernail, vibractes 32,768 times every second. The vibrations are fed into a tiny
“chip” — little bigger than the end of a match — which is crammed with more than a
thousand transistors and other components. This microscopic maze is the watch’s “brain”
and can be designed to store a remarkable amount of information. But its most important
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single function is to keep dividing the vibrations by two until the quartz is pulsing precisely
once every second.

Battery, crystal and chip combine to produce remarkably accurate watches whose
timekeeping rarely strays by more than one or two seconds each month. They also tend to be
very reliable, thanks to the absence of all the ticking machinery packed into a conventional
clockwork watch.

If you fancy a digital watch, ask yourself how many of the tricks it performs are likely to
be of genuine value. It makes no sense to spend extra money on what could become

gimmicks once the novelty has worn off.

Write underneath each of the topic sentences :
a)what expansions appear in the rest of the paragraph?
b) what kind of relation do these expansions have to the topic sentence (TS) (e. g.
illustration, cause, consequence, supporting detail, rewording of the same idea, etc. )?
TS 1 Even the cheapest and least complicated digitals are minor miracles of modern technology.
Expansions;

Relation to TS:

TS 2 many function like baby computer;.
Expansions:

Relation to TS

TS 3 Quartz, one of the world’s most common minerals, lies at the heart of every digital
watch.
Expansions:

Relation to TS

TS 4 Battery, crystal and chip combine to produce remarkably accurate watches...
Expansions

Relation to TS:

TS 5 If you fancy a digital watch, ask yourself how many of the tricks it performs are likely to
be of genuine value.

Expansions:

Relation to TS:




